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4U1636-536-JEMX1-MJID53463.247977_lc.txt / MJD 53463.247951 / burstid=5590

Peak flux: 2.411+/- 0.611 c/s/cm?

| Grey line: exponential fit

' Black line: power law + gauss fit Fluence : 10.89+/- 1.77 clcm?
f Dashed line: power law o : )
| Duration: 10.37+/- 2.56 s

I Best fit model: 1.
I Best fluence model: 1.
I Best duration model: 1.

HWWWWH MNW{H|W|WHWW|MWHHW[}m |

F\\\\\‘““““““““““““

| | |

Exponential fit

Expon. time: 2.27+/- 0.50 s (chi*red= 1.15)
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—  Power law fit plus Gaussian (st.dev.= 5.40+/-41.26 s, fracgs= 0.00+/- 0.00) =
- Power law index: 9.129+/- 4.129 (chi*red=-1.00) -
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